BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.	CONSTRUCTION OF THE LIFT STATION NO. 2 TO SERVE FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 175 FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 175 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS FEBRUARY 15, 2024 LJA ENGINEERING, INC. A. OTTO FEBRUARY 16, 2024 2085-3102 (9.2)
	TOTAL AMOUNT BID
BIDDER'S NAME	
1) PELTIER BROTHERS CONSTRUCTION	\$834,090.00
2) 5J SERVICES, LLC	\$897,557.25
3) GAEL INC	\$1,029,961.64
4) REDDICO CONSTRUCTION COMPANY, INC.	\$1,100,797.50
CALENDAR DAYS 180/335/365 A F O F F F F F F F F F F F F F F F F F	a/24 source

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.	CONSTRUCTION OF THE LIFT STATION NO. 2 TO SERVE FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 175 FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 175 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS FEBRUARY 15, 2024 LJA ENGINEERING, INC. A. OTTO FEBRUARY 16, 2024 2085-3102 (9.2)								
			1) PELTIER BROTHERS	S CONSTRUCTION	2) 5J SERVI	CES, LLC	3) GAEL INC		
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
SANITARY LIFT STATION ITEMS									
1 SITE WORK, INCLUDING BUT NOT LIMITED TO SITE GRADING, HYDROMULCH SEEDING, SITE DRAINAGE, COMPLETE IN PLACE	LS	1	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$46,210.00	\$46,210.00	
2 8' DIAMETER CONCRETE WET WELL AND VALVE PAD, INCLUDING ACCESS HATCHES, VENT, AND ALL APPURTENANCES AS SHOWN ON DRAWINGS, COMPLETE IN PLACE	LS	1	\$515,000.00	\$515,000.00	\$326,825.00	\$326,825.00	\$366,682.00	\$366,682.00	
3 20 HP SUBMERSIBLE NON-CLOG PUMP WITH MINIMUM EFFICIENCY OF 53% AT 379 GPM AND 80 T.D.H. WITH ONE PUMP RUNNING, INCLUDING DISCHARGE ELBOW, GUIDE RAILS, AND ALL APPURTENANCES FOR PROPOSED PUMPS, COMPLETE IN PLACE	EA	2	\$15,000.00	\$30,000.00	\$27,500.00	\$55,000.00	\$33,335.00	\$66,670.00	
4 SANITARY LIFT STATION AND VALVE PAD PIPING, INCLUDING PIPE, VALVES, FITTINGS, SUPPORTS, AND ALL APPURTENANCES, COMPLETE IN PLACE	LS	1	\$50,000.00	\$50,000.00	\$100,000.00	\$100,000.00	\$76,194.00	\$76,194.00	
5 6" REINFORCED CONCRETE PAVEMENT WITH 8" LIME OR CEMENT STABILIZED SUBGRADE EXTENDING 1 FOOT OUTSIDE PAVEMENT, COMPLETE IN PLACE	SY	178	\$100.00	\$17,800.00	\$75.00	\$13,350.00	\$223.00	\$39,694.00	
6 6" CRUSHED CONCRETE SITE COVER WITH GEOFABRIC(TENSAR TRIAX TX 140 OR APPROVED EQUAL) WITH 8" LIME OR CEMENT STABILIZED SUBGRADE, COMPLETE IN PLACE) SY	464	\$36.00	\$16,704.00	\$55.00	\$25,520.00	\$40.00	\$18,560.00	
7 8' TALL WOODEN FENCE INCLUDING 18' DOUBLE SWING GATE AS SHOWN ON PLANS, COMPLETE IN PLACE	LF	295	\$30.00	\$8,850.00	\$115.00	\$33,925.00	\$121.00	\$35,695.00	
8 4" DIAMETER PIPE BOLLARD, COMPLETE IN PLACE	EA	3	\$500.00	\$1,500.00	\$800.00	\$2,400.00	\$1,183.00	\$3,549.00	
9 8" PVC ASTM D2241 SDR 26, SEWER PIPE, ALL DEPTHS, INCLUDING EXCAVATION BACKFILL AND BEDDING, COMPLETE IN PLACE	ON, LF	48	\$194.00	\$9,312.00	\$950.00	\$45,600.00	\$894.00	\$42,912.00	
10 10" PVC ASTM D2241 SDR 26, SEWER PIPE, ALL DEPTHS, INCLUDING EXCAVATION, BACKFILL AND BEDDING, COMPLETE IN PLACE	LF	9	\$220.00	\$1,980.00	\$1,150.00	\$10,350.00	\$1,222.00	\$10,998.00	
11 6" AWWA C900, FORCE MAIN, DR 18, ALL DEPTHS, INCLUDING FITTINGS, EXCAVATION, BACKFILL AND BEDDING, COMPLETE IN PLACE	LF	25	\$88.00	\$2,200.00	\$150.00	\$3,750.00	\$227.00	\$5,675.00	
12 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	95	\$1.00	\$95.00	\$10.00	\$950.00	\$33.00	\$3,135.00	
13 1" SCHEDULE 40 PVC WATER LINE, ALL DEPTHS, INCLUDING FITTINGS, EXCAVATION, BACKFILL AND BEDDING COMPLETE IN PLACE	LF	22	\$25.00	\$550.00	\$100.00	\$2,200.00	\$50.00	\$1,100.00	
14 PROVIDE AND INSTALL REDUCED PRESSURE BACKFLOW PREVENTER, NON- FREEZE HOSE BIBB, ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	LS	1	\$600.00	\$600.00	\$6,500.00	\$6,500.00	\$6,230.00	\$6,230.00	
15 GRASS SWALE, 3:1 SIDE SLOPE WITH V-BOTTOM, COMPLETE IN PLACE	LF	123	\$25.00	\$3,075.00	\$10.00	\$1,230.00	\$25.00	\$3,075.00	
16 TYPE 'A' INLET, INCLUDING EXCAVATION, BACKFILL, AND BEDDING, ALL DEPTH COMPLETE IN PLACE	IS, EA	1	\$2,750.00	\$2,750.00	\$3,500.00	\$3,500.00	\$3,750.00	\$3,750.00	
17 12" RCP STORM SEWER, ALL DEPTHS, INCLUDING EXCAVATION BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	57	\$96.00	\$5,472.00	\$125.00	\$7,125.00	\$250.00	\$14,250.00	
18 CONNECT PROPOSED 6" FORCE MAIN TO PROPOSED FORCE MAIN (BY OTHER INCLUDE ALL NECESSARY ADAPTORS AND CONNECTORS OR STUB OUT AND PLUG, COMPLETE IN PLACE	S), EA	1	\$50.00	\$50.00	\$2,000.00	\$2,000.00	\$4,500.00	\$4,500.00	
19 CONNECT PROPOSED WATER LINE TO EXISTING WATER LINE (BY OTHERS) INCLUDE ALL NECESSARY ADAPTORS AND CONNECTORS OR STUB OUT AND PLUG, COMPLETE IN PLACE	EA	1	\$50.00	\$50.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00	

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.				CONSTRUCTION OF THE LIFT STATION NO. 2 TO SERVE FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 175 FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 175 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS FEBRUARY 15, 2024 LJA ENGINEERING, INC. A. OTTO FEBRUARY 16, 2024 2085-3102 (9.2)						
				1) PELTIER BROTHER	S CONSTRUCTION	2) 5J SERVI	CES, LLC	3) GAEL	3) GAEL INC	
ITEM DESCRIPTION	ι	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
20 CONNECT PROPOSED MANHOLE TO PROPOSED 8" SANI OTHERS), INCLUDE ALL NECESSARY ADAPTORS AND CC OUT AND PLUG, COMPLETE IN PLACE		EA	1	\$100.00	\$100.00	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00	
21 STANDARD SANITARY MANHOLE ALL DEPTHS INCLUDES BACKFILL, COMPLETE IN PLACE	EXCAVATION, BEDDING,	EA	1	\$14,000.00	\$14,000.00	\$9,000.00	\$9,000.00	\$17,178.00	\$17,178.00	
22 ALLOWANCE FOR ELECTRIC SERVICE PROVIDER EXACT REIMBURSED TO CONTRACTOR UPON SUBMITTAL OF IN SERVICE PROVIDER, COMPLETE IN PLACE		LS	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	
23 NEW 480V SERVICE WITH ALL DISCONNECTS, METERING FROM TRANSFORMER POLE TO METER DISCONNECT, CO		LS	1	\$25,000.00	\$25,000.00	\$27,500.00	\$27,500.00	\$27,500.00	\$27,500.00	
24 NEW 50 KW DIESEL GENERATOR, SUBBASE FUEL TANK, FROM GENERATOR TO ATS, COMPLETE IN PLACE	ATS, AND DUCT BANK	LS	1	\$45,000.00	\$45,000.00	\$80,000.00	\$80,000.00	\$75,891.00	\$75,891.00	
25 NEW DUPLEX LIFT STATION CONTROL PANEL WITH SOF CONTROLS AND DUCT BANK FROM LIFT PUMPS TO NEW COMPLETE IN PLACE	'	LS	1	\$40,000.00	\$40,000.00	\$85,000.00	\$85,000.00	\$92,400.00	\$92,400.00	
SANITARY LIFT STATION ITEMS SUBTOTAL:					\$815,088.00		\$877,725.00		\$983,348.00	
MISCELLANEOUS ITEMS							, , , , , , , , , , , , , , , , , , , ,		,.	
1 CITY OF FULSHEAR INSPECTION FEE, 1.0% OF THE TOTA COST, COMPLETE IN PLACE	L CONSTRUCTION	LS	1	\$8,151.00	\$8,151.00	\$8,777.25	\$8,777.25	\$10,197.64	\$10,197.64	
2 STORM WATER POLLUTION PREVENTION PLAN, INCLUDI MAINTENANCE, AND REMOVAL AS REQUIRED BY THE PL BY THE ENGINEER, (TO BE MAINTAINED UNTIL CONTRAC TERMINATION IS SUBMITTED), COMPLETE IN PLACE	ANS AND AS DIRECTED	LS	1	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$7,500.00	\$7,500.00	
3 INSTALLATION, MAINTENANCE AND REMOVAL OF CONCF COMPLETE IN PLACE	RETE TRUCK WASHOUT,	LS	1	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$3,500.00	\$3,500.00	
4 FILTER FABRIC FENCE, (TO BE USED ONLY AS DIRECTED COMPLETE IN PLACE	BY THE ENGINEER),	LF	352	\$2.00	\$704.00	\$4.00	\$1,408.00	\$8.00	\$2,816.00	
5 DEWATERING FOR STRUCTURE, AS REQUIRED BY SOIL USED ONLY AS DIRECTED BY THE ENGINEER), COMPLET		LS	1	\$1.00	\$1.00	\$1.00	\$1.00	\$5,000.00	\$5,000.00	
6 DEWATERING OF LINE WORK (TO BE USED ONLY AS DIR ENGINEER), COMPLETE IN PLACE	ECTED BY THE	LF	95	\$1.00	\$95.00	\$1.00	\$95.00	\$55.00	\$5,225.00	
7 CONTROL OF SURFACE WATER (TO BE USED ONLY AS D ENGINEER), COMPLETE IN PLACE	IRECTED BY THE	LS	1	\$1.00	\$1.00	\$1.00	\$1.00	\$2,500.00	\$2,500.00	
8 EXTRA CEMENT STABILIZED SAND, (1.5 SACKS OF CEME CEMENT STABILIZED SAND), (TO BE USED ONLY AS DIRE ENGINEER), COMPLETE IN PLACE		CY	10	\$20.00	\$200.00	\$20.00	\$200.00	\$65.00	\$650.00	
9 EXTRA 4,000 PSI CONCRETE WITH REINFORCING STEEL DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	(TO BE USED ONLY AS	CY	10	\$400.00	\$4,000.00	\$400.00	\$4,000.00	\$400.00	\$4,000.00	
10 EXTRA COST OF UTILITY WET SAND CONSTRUCTION, AL DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGI PLACE		LF	95	\$30.00	\$2,850.00	\$30.00	\$2,850.00	\$55.00	\$5,225.00	
MISCELLANEOUS ITEMS SUBTOTAL:					\$19,002.00		\$19,832.25		\$46,613.64	

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.				TO SERVE FORT BEN FORT BEND COUNTY	G, INC.					
				1) PELTIER BROTH	ERS CONSTRUCTION	2) 5J SERVICES, LLC		3) GAEL INC		
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
BIDDING SUMMARY										
SUBTOTAL SANITARY LIF	T STATION ITEMS				\$815,088.00		\$877,725.00		\$983,348.00	
SUBTOTAL MISCELLANEO	DUS ITEMS				\$19,002.00		\$19,832.25		\$46,613.64	
TOTAL AMOUNT BASE BI	D			\$834,090.00 \$897,557.25 \$1,029,9						

LJA Engineering, Inc.

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.		T F C F L A F	O SERVE FORT BEND (ORT BEND COUNTY MU	THE LIFT STATION NO. 2 ID COUNTY MUNICIPAL UTILITY DISTRICT NO. 175 MUNICIPAL UTILITY DISTRICT NO. 175 FORT BEND COUNTY, TEXAS IC.	
		4)	REDDICO CONSTRUC	UCTION COMPANY, INC.	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	
SANITARY LIFT STATION ITEMS					
 SITE WORK, INCLUDING BUT NOT LIMITED TO SITE GRADING, HYDROMULCH SEEDING, SITE DRAINAGE, COMPLETE IN PLACE 	LS	1	\$6,950.00	\$6,950.00	
2 8' DIAMETER CONCRETE WET WELL AND VALVE PAD, INCLUDING ACCESS HATCHES, VENT, AND ALL APPURTENANCES AS SHOWN ON DRAWINGS, COMPLETE IN PLACE	LS	1	\$378,600.00	0 \$378,600.00	
3 20 HP SUBMERSIBLE NON-CLOG PUMP WITH MINIMUM EFFICIENCY OF 53% AT 379 GPM AND 80 T.D.H. WITH ONE PUMP RUNNING, INCLUDING DISCHARGE ELBOW, GUIDE RAILS, AND ALL APPURTENANCES FOR PROPOSED PUMPS, COMPLETE IN PLACE	EA	2	\$86,610.00	0 \$173,220.00 0 \$110,650.00	
4 SANITARY LIFT STATION AND VALVE PAD PIPING, INCLUDING PIPE, VALVES, FITTINGS, SUPPORTS, AND ALL APPURTENANCES, COMPLETE IN PLACE	LS	1	\$110,650.00	0 \$110,650.00	
5 6" REINFORCED CONCRETE PAVEMENT WITH 8" LIME OR CEMENT STABILIZED SUBGRADE EXTENDING 1 FOOT OUTSIDE PAVEMENT, COMPLETE IN PLACE	SY	178	\$178.00	0 \$31,684.00	
6 6" CRUSHED CONCRETE SITE COVER WITH GEOFABRIC(TENSAR TRIAX TX 140 OR APPROVED EQUAL) WITH 8" LIME OR CEMENT STABILIZED SUBGRADE, COMPLETE IN PLACE	SY	464	\$52.00	5 \$24,128.00	
7 8' TALL WOODEN FENCE INCLUDING 18' DOUBLE SWING GATE AS SHOWN ON PLANS, COMPLETE IN PLACE	LF	295	\$105.00	\$30,975.00	
8 4" DIAMETER PIPE BOLLARD, COMPLETE IN PLACE	EA	3	\$983.00	\$2,949.00	
9 8" PVC ASTM D2241 SDR 26, SEWER PIPE, ALL DEPTHS, INCLUDING EXCAVATION, BACKFILL AND BEDDING, COMPLETE IN PLACE	LF	48	\$446.00	0 \$21,408.00	
10 10" PVC ASTM D2241 SDR 26, SEWER PIPE, ALL DEPTHS, INCLUDING EXCAVATION, BACKFILL AND BEDDING, COMPLETE IN PLACE	LF	9	\$1,035.00	\$9,315.00	
11 6" AWWA C900, FORCE MAIN, DR 18, ALL DEPTHS, INCLUDING FITTINGS, EXCAVATION, BACKFILL AND BEDDING, COMPLETE IN PLACE	LF	25	\$89.00	0 \$2,225.00	
12 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	95	\$1.00	95.00	
13 1" SCHEDULE 40 PVC WATER LINE, ALL DEPTHS, INCLUDING FITTINGS, EXCAVATION, BACKFILL AND BEDDING COMPLETE IN PLACE	LF	22	\$30.00	0 \$660.00	
14 PROVIDE AND INSTALL REDUCED PRESSURE BACKFLOW PREVENTER, NON- FREEZE HOSE BIBB, ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	LS	1	\$12,085.00	0 \$12,085.00	
15 GRASS SWALE, 3:1 SIDE SLOPE WITH V-BOTTOM, COMPLETE IN PLACE	LF	123	\$10.50	0 \$1,291.50	
16 TYPE 'A' INLET, INCLUDING EXCAVATION, BACKFILL, AND BEDDING, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$4,345.00	0 \$4,345.00	
17 12" RCP STORM SEWER, ALL DEPTHS, INCLUDING EXCAVATION BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	57	\$123.00	0 \$7,011.00	
18 CONNECT PROPOSED 6" FORCE MAIN TO PROPOSED FORCE MAIN (BY OTHERS), INCLUDE ALL NECESSARY ADAPTORS AND CONNECTORS OR STUB OUT AND PLUG, COMPLETE IN PLACE	EA	1	\$2,045.00	0 \$2,045.00	
19 CONNECT PROPOSED WATER LINE TO EXISTING WATER LINE (BY OTHERS) INCLUDE ALL NECESSARY ADAPTORS AND CONNECTORS OR STUB OUT AND PLUG, COMPLETE IN PLACE	EA	1	\$300.00	0 \$300.00	

BID T	ABULATION FOR:		T	ORT BEND COUNTY M	COUNTY MUNICIPAL UT UNICIPAL UTILITY DISTR	ICT NO. 175
BID O TABU TABU	PENING DATE: PENING LOCATION: LATION BY: LATION DATE: OB NO.		F L <i>J</i> F	CITY OF FULSHEAR, FO FEBRUARY 15, 2024 JA ENGINEERING, INC. A. OTTO FEBRUARY 16, 2024 2085-3102 (9.2)	RT BEND COUNTY, TEX	AS
			4) REDDICO CONSTRUC	TION COMPANY, INC.	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	
20	CONNECT PROPOSED MANHOLE TO PROPOSED 8" SANITARY SEWER (BY OTHERS), INCLUDE ALL NECESSARY ADAPTORS AND CONNECTORS OR STUB OUT AND PLUG, COMPLETE IN PLACE	EA	1	\$6,350.00	\$6,350.00	
21	STANDARD SANITARY MANHOLE ALL DEPTHS INCLUDES EXCAVATION, BEDDING, BACKFILL, COMPLETE IN PLACE	EA	1	\$11,965.00	\$11,965.00	
22	ALLOWANCE FOR ELECTRIC SERVICE PROVIDER EXACT AMOUNT WILL BE REIMBURSED TO CONTRACTOR UPON SUBMITTAL OF INVOICE FROM ELECTRIC SERVICE PROVIDER, COMPLETE IN PLACE	LS	1	\$20,000.00	\$20,000.00	
23	NEW 480V SERVICE WITH ALL DISCONNECTS, METERING, RACK AND DUCT BANK FROM TRANSFORMER POLE TO METER DISCONNECT, COMPLETE IN PLACE	LS	1	\$110,010.00	\$110,010.00	\sqrt{C}
24	NEW 50 KW DIESEL GENERATOR, SUBBASE FUEL TANK, ATS, AND DUCT BANK FROM GENERATOR TO ATS, COMPLETE IN PLACE	LS	1	\$61,870.00	\$61,870.00	
25	NEW DUPLEX LIFT STATION CONTROL PANEL WITH SOFT STARTS, ALL CONTROLS AND DUCT BANK FROM LIFT PUMPS TO NEW CONTROL PANEL, COMPLETE IN PLACE	LS	1	\$48,330.00	\$48,330.00	0,
SANI	TARY LIFT STATION ITEMS SUBTOTAL:				\$1,078,461.50	
	ELLANEOUS ITEMS					
	CITY OF FULSHEAR INSPECTION FEE, 1.0% OF THE TOTAL CONSTRUCTION COST, COMPLETE IN PLACE	LS	1	\$10,899.00	\$10,899.00	
2	STORM WATER POLLUTION PREVENTION PLAN, INCLUDING ADMINISTRATION, MAINTENANCE, AND REMOVAL AS REQUIRED BY THE PLANS AND AS DIRECTED BY THE ENGINEER, (TO BE MAINTAINED UNTIL CONTRACTOR'S NOTICE OF TERMINATION IS SUBMITTED), COMPLETE IN PLACE	LS	1	\$2,585.00	\$2,585.00	
3	INSTALLATION, MAINTENANCE AND REMOVAL OF CONCRETE TRUCK WASHOUT, COMPLETE IN PLACE	LS	1	\$825.00	\$825.00	
4	FILTER FABRIC FENCE, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	352	\$2.50	\$880.00	
5	DEWATERING FOR STRUCTURE, AS REQUIRED BY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$1.00	\$1.00	
6	DEWATERING OF LINE WORK (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	95	\$1.00	\$95.00	
7	CONTROL OF SURFACE WATER (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$1.00	\$1.00	
8	EXTRA CEMENT STABILIZED SAND, (1.5 SACKS OF CEMENT PER CUBIC YARD CEMENT STABILIZED SAND), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	10	\$20.00	\$200.00	
9	EXTRA 4,000 PSI CONCRETE WITH REINFORCING STEEL, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	10	\$400.00	\$4,000.00	
10	EXTRA COST OF UTILITY WET SAND CONSTRUCTION, ALL LINE SIZES AND DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	95	\$30.00	\$2,850.00	
MISC	ELLANEOUS ITEMS SUBTOTAL:				\$22,336.00	

BID TABULATION FOR: BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.				TO SERVE FORT BEND O FORT BEND COUNTY MU	HE LIFT STATION NO. 2 O COUNTY MUNICIPAL UTILITY DISTRICT NO. 175 MUNICIPAL UTILITY DISTRICT NO. 175 ORT BEND COUNTY, TEXAS C.
				4) REDDICO CONSTRUCT	CTION COMPANY, INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
BIDDING SUMMARY					
SUBTOTAL SANITARY LIFT STATION ITE	EMS				\$1,078,461.50
SUBTOTAL MISCELLANEOUS ITEMS					\$22,336.00
TOTAL AMOUNT BASE BID					\$1,100,797.50
		Ś			